DU MEd

Topic:- DU_J19_MED

1) Classification of Personality as Extrovert, Introvert and Ambivert was given by
arEaHE), Ieaddt AR seaEE F w0 A safFaca 1 eftwor e fear?
[Question ID = 746]

1. Spranger / ¥9=iX [Option ID = 2982]
2. Kretchmer / $2a#RX [Option ID = 2981]
3. Jung / ST9T [Option ID = 2984]

4, Sheldon / 273 [Option ID = 2983]

Correct Answer :-
o Jung / St [Option ID = 2984]

2) Which of the following statements regarding Sarva Shiksha Abhiyan is incorrect?
Td et 3 & way § Reafaf@a § @ wlq w1 sy Taq @2
[Question ID = 745]

1. Universal retention by 2010 / 2010 & gfeia¥ier &2 [Option ID = 2979]

2. All children to be in school by 2003. / 2003 de & swd fagaTerd # giet| [Option ID = 2977]

3. All children to complete eight years of schooling by 2009. / @Y S)=d 2009 deh 3TS HTel I faeATerR—iT Tt
{1 & ofdT| [Option ID = 2980]

4, All children to complete five years of primary schooling by 2007. / @t sTd 2007 de 9T ATel ST JrafAs
fRI&TT T & ofaY| [Option ID = 2978]

Correct Answer :-

« All children to complete eight years of schooling by 2009. / @I §=a 2009 de HTS HTel I faeaTeria
TRI&TT Y T @feT| [Option ID = 2980]

3) Which of the following Curriculum Frameworks stressed the connectivity between ‘the basic
ethos and curricular pursuits in school education’?

frrafaf@a # & fre aogeat #r var F Regrery Ran # g AwEr A3k Teasa’ F @ iw-
ey W I fear?

[Question ID = 696]

1. National Curriculum Framework 2000 / ITSEIT IT&IaaT Shr &93@r 2000 [Option ID = 2782]
2. National Curriculum Framework 2005 / TSERT qTaa=raT i FIRE@T 2005 [Option ID = 2781]
3. National Curriculum Framework 1988 / T¢I IraI<raT &hr @M 1988 [Option ID = 2783]
4, National Curriculum Framework 1975 / IrsE1 Urag=aaT i ®@r 1975 [Option ID = 2784]

Correct Answer :-
« National Curriculum Framework 2000 / ITSIT 93T &hr &a3@r 2000 [Option ID = 2782]



4) Which of the following cannot be called a pure behaviorist
frmafaf@a # & frd 48 T @ saaeRard) ¢l Fe1 o1 Fhar 82
[Question ID = 749]

1. Edward Thorndike / T8ds UrsisTss [Option ID = 2994]
2. Albert Bandura / 3fee€ exT [Option ID = 2995]

3. Ivan P. Pavlov / aTe dY. 9rdelid [Option ID = 2996]

4. John B. Watson / SiteT &t.aredeT [Option ID = 2993]

Correct Answer :-
« Albert Bandura / 3Tesi¢ ST [Option ID = 2995]

5) Which of the following are the assessment related mandates in RTE-2009?

1. No child admitted in school shall be held back in any class or expelled from school till
completion of elementary education.

2. Continuous and comprehensive evaluation of a child’s understanding of knowledge and his or
her ability to apply the same.

3. No child shall be required to pass any board examination till completion of elementary
education

4. The quality of assessment practices adopted by the teachers need to be centrally evaluated.

NfAf@a #F Fl9-@ Fua IRES -2009 F Fediwe § wraftra s 3?

1. Rag@Ter # srclt fnelt oft areres /anfareT 6t wrafae Rram & @@ e a fRgamera ¥ fseifia w@t fram s,
7 & 3H e FaT 7 Qer FTCIT

2. o3 1AW T GAS AR IHS! AR FI Y HHT 4THAAT FT, T 3R AT AediweT|

3. Tt oft 7= = yrafa e F @ A a% F1§ N2 Ihew sccliot FIar Iraeaw 7@ g

4. T GART HIATY HTeFelel TUTIHT HY IOTACAT F FERT HEATH HY JTTHA ¢

[Question ID = 674]

1.1,2,3and 4/ 1,2,3 3R 4 [Option ID = 2694]
2.1,2 and 3/ 1,2 3R 3 [Option ID = 2695]
3.1,3and 4/ 1,3 31X 4 [Option ID = 2693]

4. 1and 3/ 1 3R 3 [Option ID = 2696]

Correct Answer :-
e 1,2and 3/ 1,2 3R 3 [Option ID = 2695]

6) Which of the following pairing of a Maslowian need and a real-life example is incorrect?
frrafaf@a & & Fla a1 ‘Arcalg A srqeaFar s aafas e # sereer F1 7w T9T 82
[Question ID = 750]

1. Love and Belongingness Needs, Need to be accepted by others / 9 3R fazara & 3Taeashard, Rl ganT
FAIHR ThT ST T 3TaeTehdr [Option ID = 2999]

2. Self-Actualization Need, Need to realize one’s potential / 3TcH-fAfg ST 3TaRAHT, 39=A &THAT T 33T
&{T [Option ID = 2998]

3. Esteem Need, Being Competent and accomplishments / 9fasaT T 3Taeaerdr, T&THdT 3R 3Uarfsydr [Option
ID = 3000]

4, Physiological Need, Need to stay out of danger / QIR 3TaRTRT, WX H TG (g1 I ITaTehdT [Option
ID = 2997]

Correct Answer :-



« Physiological Need, Need to stay out of danger / QTRIR& 3TaRTRAT, WX H TG IgT T TALTRAT
[Option ID = 2997]

7) Which of the following refers to an intensive and in-depth study of one individual?

frrafaf@a & & Fla v safFa 1 ea 3R AfFa-ga sreaaa w1 Fi wefdia Fare?
[Question ID = 671]

1. Case Study / =afSe-31¢g3sT [Option ID = 2683]

2. Experimental Research / 9aldlcAs ﬂg&um [Option ID = 2684]
3. Descriptive Research / guieilcaieh 3e[@=eT [Option ID = 2681]
4. Ethnography / sJa2ifa=ire [Option ID = 2682]

Correct Answer :-
o Case Study / safse-3reage [Option ID = 2683]

8) Which of the following type of disability is not included in the RPWD Act 2016?
a. Acid Attack victim

b. Parkinson’s disease

c. Hemophilia

d. Sickle Cell disease

RPWD 3fafaasr 2016 & A= & ¥ 9 yovR F1 srawdar aFafaqa agt fr g 2
a. AFA-3THAT DT

b. TIfEw Jer

c. JfRFaaa

d. g AT A1

[Question ID = 739]

1.a&b/a&b [Option ID = 2954]
2. None of these / =13 & &I =Agr [Option ID = 2953]
3.b&c /b &c [Option ID = 2956]
4. c&d/c&d [Option ID = 2955]

Correct Answer :-

« None of these / 378 & &I 78T [Option ID = 2953]

9) Which of the following is not a characteristic of the concrete-operational stage as
conceptualized by Piaget?

foeer & @ e W rawyT, SIS GERT Hfeua HA-AiRaTeH Irawyr Fr v e gt 82
[Question ID = 730]

1. Mastery of identity / 9g=TeT sT 98ica [Option ID = 2918]

2. Classification / @3ffoT [Option ID = 2920]

3. Reversibility / 3ecat-Teieat T Aeaar (RAfAfaferd) [Option ID = 2919]
4. Abstract thinking / 37T feidT [Option ID = 2917]

Correct Answer :-
« Abstract thinking / 313t fidsT [Option ID = 2917]

10) Which of the following is not a characteristic of mean?



frfaf@d & @ Fia @ Fegae H FAvar gt 82
[Question ID = 694]

1. it is used when the data is ordinal / TehT 3UANIT 3Ths hiAH gled WX fhaT SATAT § [Option ID = 2774]
2. it is least affected by extreme scores / g Hafcd TR T HH & & Y1Tad 8IaT & [Option ID = 2773]
3. its value is always greater than the mode / 8T HTA, EHMT ag?vlm & 319 g1ar & [Option ID = 2776]
4. the deviations at the mean is ‘Zero’ / #EIATH W fa=relst ‘4’ & [Option ID = 2775]

Correct Answer :-

11) Which of the following is not the impact of Wood’s Dispatch?
frrafaf@a & & #la 33 & Betw w1 wma adi 82
[Question ID = 713]

1. Professional education was encouraged. / caTaaTAs A& St Wcarfad fawar aram| [Option ID = 2852]

2. Department of Public Instruction were abolished in all provinces. / T3t widt & Trdei=s 3He]aRIe TamaT St
FHATCT & f&ar aram| [Option ID = 2849]

3. There was decrease in grant in aid. / HETIdT # 37lclel & &#T &I 15| [Option ID = 2850]

4, Religious neutrality in education was observed. / feTr & enfie dexardr & a1$| [Option ID = 2851]

Correct Answer :-
« There was decrease in grant in aid. / HgIdT # 37eJelel & el T a1$| [Option ID = 2850]

12) Which of the following is not true for median?

frafaf@a & ¥ wlq Aegs & Qv ad a8 22
[Question ID = 687]

1. it is the middlemost value when data is arranged in an order / ST fordT ShaT & 33 ST STATAT FT I &,
dl I§ |8 AL e §iaT ¢ [Option ID = 2745]

2. it is also called Percentile-50 / 38 9faerdie-50 $fF 8T ST § [Option ID = 2746]

3. it is used to find quartile deviation / S&ehT 39T TTUieh faereret Wrsiel & forw fovam STam & [Option ID =
2747]

4. it is the most frequently occurring value / Ig He& 31f&e R glet aTell Hed ¢ [Option ID = 2748]

Correct Answer :-
« itis the most frequently occurring value / g Ha¥ 31feIeh IR gleY aTell Hed & [Option ID = 2748]

13) Which of the following mentions in its Preface - "Government accords the highest priority to
education both as a human right and as the means for bringing about a transformation towards a
more humane and enlightened society.”

forer 1 wearae # sew T A § - "aER ReT Y, vE A AfER AR s A a9 agg ga e #
T IR a1 F U & T F gafed wgfAwar g "

[Question ID = 675]

1. Yashpal Committee Report / Terdrer fAfa gfadest [Option ID = 2697]

2. Kothari Commission / @I&RT 371413 [Option ID = 2699]

3. Ramamurti Committee Report / TH#AST AfATY $r gfddest [Option ID = 2698]

4, National Curriculum Framework (NCF-2005) / T¢I qra=aT dhr FR@T (NCF-2005) [Option ID = 2700]

Correct Answer :-



« Ramamurti Committee Report / TH#AfT GfATY $r gfdaest [Option ID = 2698]

14) Which of the following recognizes that “Persons with Disabilities are valuable human
resource for the country and seeks to create an environment that provides them equal
opportunities, protection of their rights and full participation in society.”

frafaf@a & @ wla 75 7 § o "R safFa o F fore fegan aea ware § 3k v dar araravor
TAT TIRT ST 37 HATT HAW, 3T HTAFRT hr &I 3 FATSr A qot sy verer w31

[Question ID = 668]

1. Right of Children to Free and Compulsory Education (RTE, 2009) / st st #trdl 3R 3ifeard fRrem ar
3R (RTE, 2009) [Option ID = 2671]

2. National Policy for Persons with Disabilities, 2006 / faeretiaT safFaat & forw T ifd, 2006 [Option ID =
2672]

3. The National Policy on Education, NPE-1986 (modified in 1992) / f1&TT 9 IsErr ifd, TaAdls -1986 (1992 7
&) [Option ID = 2669]

4. The Persons with Disabilities (Equal Opportunities, Protection of Rights and Full Participation) Act, 1995 /
Teheliar saferd (FHAT 3@y, USRI &1 T&T0T 31X ot amefigrdy) rfRfaa, 1995 [Option ID = 2670]

Correct Answer :-

« National Policy for Persons with Disabilities, 2006 / TaerelleT cafFaar & forw Iser Aifd, 2006 [Option ID
= 2672]

15) Which of these tests are projective tests?
a. Thematic Apperception Test

b. Rorschach Inkblot Test

c. Raven’s Progressive Matrices

d. Children’s Apperception Test

goT qiaton & & Fia-ar gardr gdaor 2
i. fwTera wucgar wdiator

ii. 21T FT TITE-trear gdiaor

iii. W& & warfaefier @

iv. ITUT HT T9cT&T THEToT

[Question ID = 731]

1.a,b&c/ a, b 3R c [Option ID = 2922]
2.a,b, &d/a, b3 d[Option ID = 2924]
3.a&d/ a 3R d [Option ID = 2923]

4, a &b/ a 3R b [Option ID = 2921]

Correct Answer :-
e a, b, &d/a, b3 d[Option ID = 2924]

16) Which of the concept is most closely linked with the idea of Lev Vygotsky’s theory of the ZPD
(Zone of Proximal Development)?

FleT W Fheua1 A TR & o2, 9.2, (wHvry R #1 87) F Rued § 7ad 310+ PAevear @ 3 g
P

[Question ID = 754]

1. Scaffolding / T&@T®ITesdT [Option ID = 3016]
2. Brain Storming / TaaRmaer / fdaR-#2= [Option ID = 3015]



3. Mind Mapping / ATEds® ATARECT / fdaR AIRF0T [Option ID = 3013]
4, Conservation / &X&TOT [Option ID = 3014]

Correct Answer :-
« Scaffolding / T&@TdIfesaT [Option ID = 3016]

17) Which type of intelligence in Gardner’s theory of Multiple Intelligence relates to ‘the ability
to think three-dimensionally’?

TSR F TgEdT Iy Rgra # fw vovR A Y, FH-3mamh e i aerar F gl 82
[Question ID = 755]

1. Bodily-Kinesthetic Intelligence / aMIReh-aTferEd<Y gfig [Option ID = 3020]
2. Spatial Intelligence / ¥uTfais gfg [Option ID = 3018]

3. Mathematical Intelligence / TfoTc¥ g [Option ID = 3019]

4. Naturalist Intelligence / Sshfciarér gfg [Option ID = 3017]

Correct Answer :-
« Spatial Intelligence / TuTfais gfe [Option ID = 3018]

18) Which one of the following is not a part of 'Being needs' of an individual?
et & @ 1 v afFa i dfiger Aigw’ &1 v wwT AE 2
[Question ID = 759]

1. Empathetic Existence / @gTej3{fct 3if&cica [Option ID = 3035]

2. Self-actualization / Wﬂﬁ [Option ID = 3036]

3. Aesthetic appreciation / HigdaTer 31f@#easT [Option ID = 3034]
4, Intellectual achievement / siifge 3uafstr [Option ID = 3033]

Correct Answer :-
o Empathetic Existence / 1431?—;34@ 31f&dca [Option ID = 3035]

19) Which was the first comprehensive educational plan formulated by the CABE
CABE E@RT IR #Y 37§ ugelt am9e Afave et o

[Question ID = 733]

1. Gokhale’s Bill / 3r@er &1 fa9ae [Option ID = 2931]

2. Ramamurti Committee / TH#AfT GfATT [Option ID = 2932]
3. Sargent Report / @Teic 9fadest [Option ID = 2930]

4, Adam’s Report / Tsa @I gfddest [Option ID = 2929]

Correct Answer :-
« Sargent Report / @Tsic ufadesT [Option ID = 2930]

20) Albert Bandura developed a reciprocal determination model which consists of three main
factors that are:

Ieae Foq Ul o Tk IREIRS fawaor wfawmer Refa B S da qeg wrs BRada e -

[Question ID = 758]



1. Curiosity, Insight, Exploration / fSr=1aT, 3id% 8¢, 3i=awoT [Option ID = 3030]

2. Behavior, Person / Cognitive, Environment / S0dgR, eafed / HaTlcHh, araraior [Option ID = 3029]
3. Observation, Environment, Experience / 3@cliehe], aTdTaXuT, 37s7Hd [Option ID = 3032]

4, Observation, Learning, Insight / 3ta@dlieret, 31f8reTe, 3ia<fSe [Option ID = 3031]

Correct Answer :-
« Behavior, Person / Cognitive, Environment / egagRR, safad / Hellellcaeh, araraxr [Option ID = 3029]

21) Tests in which scores are compared to a set performance standard are

T 1&ToT FIEe 37ehY Y 0T Y v AUTRE geeier AeTs § Jorar w4 78 &
[Question ID = 661]

1. Aptitude Tests / 31f&TAAT IRETOT [Option ID = 2644]

2. Diagnostic Tests / #igTfeier T1470T [Option ID = 2643]

3. Norm- Referenced tests / FTeTeh-TeTaTd II&T0T [Option ID = 2641]

4. Criterion- Referenced tests / fiehY-H& T3 9<I&ToT [Option ID = 2642]

Correct Answer :-
« Criterion- Referenced tests / f@ey-gef3ia wietor [Option ID = 2642]

22) When two independent coders code the same test and then compare scores, this is
ST &Y FqAT Hehaidh FATST THETT HT Hhel 3T 3TF 916 IHHT A Jolall FIA ¢ af T§
[Question ID = 735]

1. intercoder reliability / 3idR-Hehdeh faea@=iaar [Option ID = 2939]
2. intercoder validity / 3TaR-Hehdde deraT [Option ID = 2938]

3. dual reliability / gd faeads=iradr [Option ID = 2940]

4. dual code method / gdd dahd faf&r [Option ID = 2937]

Correct Answer :-
« intercoder reliability / 37cR-Hahde faea@=i=rar [Option ID = 2939]

23) When an adolescent conforms to parental wishes without considering alternatives regarding
identity, it is called

9 U R gga & aR # RFeul w e R B Arar-Rar # seont & 9fa sew @iar ¢, @ a8 Fa
STaT §

[Question ID = 721]

1. identity diffusion. / 9gdTsl 99K [Option ID = 2884]
2. foreclosure. / g1 [Option ID = 2881]

3. alienation. / s A [Option ID = 2882]

4, moratorium. / 9fds=er [Option ID = 2883]

Correct Answer :-
« foreclosure. / qRI&er [Option ID = 2881]

24) Identify the correct order of the steps in the creative thinking process:

TIATCH® URaT A HEY FH F YSI FT IgdH Fi:



[Question ID = 757]

1. Insight, Preparation, Evaluation, Incubation, Elaboration / 3id<fSe, 3T, a-g\(vqichd, 3SATYS, faEdR
[Option ID = 3028]

2. Elaboration, Evaluation, Preparation, Insight, Incubation / fa®dR, Hediehe, 3TIeT, 3 ite, ISART
[Option ID = 3025]

3. Preparation, Insight, Incubation, Elaboration, Evaluation / 3TaTstet, 3id< e, 3sAT, faedR, HedidhsT
[Option ID = 3027]

4. Preparation, Incubation, Insight, Evaluation, Elaboration / 3(TiYslel, 3%HII, 3id< fSe, Hediehd, AR
[Option ID = 3026]

Correct Answer :-

« Preparation, Incubation, Insight, Evaluation, Elaboration / 3(risiel, 3SATI, 3deise, Hediehd, R
[Option ID = 3026]

25) Approach which focused on analysis of component of consciousness is called

IYNTA, S AT & gew & fRavor W HRI 3 FEromar d
[Question ID = 725]

1. Structuralism / TXg=TaTe [Option ID = 2899]
2. Behaviorism / egagRdre [Option ID = 2900]
3. Constructivism / Td=Tare [Option ID = 2897]
4, Functionalism / fshaTcaendr [Option ID = 2898]

Correct Answer :-
e Structuralism / EX=TATE [Option ID = 2899]

26) NAEP (1978) stands for
NAEP (1978) faehr wfaicd &7 &
[Question ID = 742]

1. None of these / 31 & #Is sTgI [Option ID = 2968]

2. National Adult Education Planning / ITserr aa&a A& Jistar [Option ID = 2966]

3. National Adult Education Programme / IS aa%eh fRI&T shrishar [Option ID = 2965]

4, National Awareness towards Environmental Programme / 9aTaR0T SIisha & Ufa ASET SITeTReqdr [Option
ID = 2967]

Correct Answer :-
« National Adult Education Programme / IS¢ aa&eh fRA&TT Sisha [Option ID = 2965]

27) Certain practical recommendations are made in educational theory on the basis of its
structure which contains/ &% Rgia # Fo sarae® wegfaal, it swh e & 3TUR 18 18, orae
gATfaSe §

[Question ID = 663]

1. assumptions about the desirability of ends, about the nature of society and about teacher’s knowledge and
teacher’s pedagogical methods. / ‘3ifciar TROTTH T ATS=IaT, "GATST T Fhid’ R RIeTeh & AT vd Rarn
&1 Aerfores faferal’ & ok A 3raumomd| [Option ID = 2652]

2. assumptions about the desirability of ends, about the nature of children and about knowledge and
pedagogical methods. / ‘3ifciar aRUTH T are=iadr, ‘Teat i ehia’ 3R A va Aeifore &Rt & aR &
3TURUM| [Option ID = 2649]



3. assumptions about the desirability of positive results, about the nature of teacher’s knowledge in society
and about the selection of pedagogical methods. / ‘GRIcHA® TRUTH FI AT, \[RA8ThT T TATST H ATl
T TasTTa’ 3R YerOre AT & gaa’ F IR F 3@UROM| [Option ID = 2651]

4. assumptions about the desirability of positive results, about the nature of society and about selection of
knowledge and teachers’ nature. / ‘HehRTcH TRUTH T ASAIIAT, FHIST I Thia’ 3R AT T faTehr &
TIHTT & TIT’ & SR H ITUROM [Option ID = 2650]

Correct Answer :-

« assumptions about the desirability of ends, about the nature of children and about knowledge and
pedagogical methods. / *3ifcie 9RO T aTe=iIar, ‘st &1 Jepid’ AR AT v Aeifore At & an
#H 379URUTM| [Option ID = 2649]

28) In addition to language, mathematics, natural sciences and social science, National
Curriculum Framework 2005 also recognizes the following areas of learning:

#1910, Trpfas e 3R wrfoE R & sremar, TS deFEEt FY FRET 2005 HEH F
fArafaf@a &t ) it Fegar & @

[Question ID = 689]

1. Health and Physical Education; Work and Education; Education for Peace / Tareea 3R emiiRes fRew; ey
T fRver; enfa o forw Ry [Option ID = 2756]

2. Aesthetic Education; Work and Education; Education for Peace / Gicdarer fRretr; sy va fRyet; aifa & fow
f2rear [Option ID = 2755]

3. Aesthetic Education; Health and Physical Education; Work and Education / @ie3ater fRvetr; wareey ik
mIRes fRre; ¥ va fer [Option ID = 2753]

4. Aesthetic Education; Health and Physical Education; Education for Peace / @ieiater fiem; wareey 3ik
riRes fRre; enfar & fore f2rear [Option ID = 2754]

Correct Answer :-
« Health and Physical Education; Work and Education; Education for Peace / Tareey 3R amdiRes fRvem;
1Y Uq frem; enfa & forw fvear [Option ID = 2756]

29) According to Krishnamurti, the right kind of education, while encouraging the learning of a
technique, should help people to:

Feorfel & TR, e THR Y 2T Y, FTIT aFahd F NewriRd Fa THF, AT A 7AGg FEA AR
[Question ID = 707]

1. Experience the beliefs of life / SfideT T HI=IAT31T & 3HeTs1d ¥t H [Option ID = 2828]

2. Experience the dual process of life / SfiaeT T clgdT fshaT T 37737d =t H [Option ID = 2826]

3. Experience the complicated processes of life / SfiaeT T STfeer TfhAT3iT T 37e37d =1 # [Option ID = 2825]
4. Experience the integrated process of life / Tehlehcl SfideT ST TfshaT ol 37787 it # [Option ID = 2827]

Correct Answer :-
« Experience the integrated process of life / TehreheT SiiasT <k UfshaT T 37e]37d =1 H [Option ID = 2827]

30) According to Kohlberg, at what level is moral development completely internalized and not
based on others' standards?

Froraet F AR, AfAF R fFa Fav W Oof 79 § gHRfa vd qud & At W it smenRa A€ e 82
[Question ID = 726]

1. Preconventional / T:TWQTI?IFT [Option ID = 2901]



2. Post-conventional / 9T-9RFIRTTd [Option ID = 2903]
3. Conventional / 93FRTeTd [Option ID = 2902]
4, Justice / a1 [Option ID = 2904]

Correct Answer :-
» Post-conventional / 9T-9FIT9Td [Option ID = 2903]

31) According to Karl Popper, experiments in science
FTel UIIT & HTAR, faraamer F wahar
[Question ID = 704]

1. can disprove the theories. / fRagrdr I 3Teid &g X Thd g1 [Option ID = 2814]
2. sometimes prove theories. / Fs-wefT &gl &t &g I &1 [Option ID = 2816]
3. prove the theories. / Rgledr & f&g &I g1 [Option ID = 2813]

4, have no relation to theories. / f&gidl & FIs HEY 77&T g1 [Option ID = 2815]

Correct Answer :-
« can disprove the theories. / RgIdr I e g FT Tohd g1 [Option ID = 2814]

32) A good measure of Central tendency when scores are in ordinal scale will be?

FERT Tqfed T AT TF 3BT AT § 9 3F RS Fhel W ghar?
[Question ID = 666]

1. Mean / AEIATS [Option ID = 2661]
2. Range / fa&aR [Option ID = 2664]
3. Mode / agﬂm [Option ID = 2663]
4, Median / #ETT [Option ID = 2662]

Correct Answer :-
 Median / #EAT [Option ID = 2662]

33) Operation Black Board was aimed at
TR soleh a1E FT 3827 4T
[Question ID = 714]

1. providing Black Board in all classrooms. / 3T S&TI31t & ITHYE Y&l | [Option ID = 2853]

2. providing smart boards in all classes. / T3 a3 & THATE-S1S WeTeT =T| [Option ID = 2855]

3. providing Basic learning material for all children. / @it sreait & fore gfagrer Riator @it vt =l
[Option ID = 2854]

4, repainting black boards. / seles &1 I T & Ue FT=AT| [Option ID = 2856]

Correct Answer :-

« providing Basic learning material for all children. / @l st o foIT gAY RI&ToT ATHAT TeTeT LT
[Option ID = 2854]

34) With which of the following is the concept of Zone of Proximal Development associated?

ot & @ forwrds wryr wHITEy e & &t Y IR 3 g8 #?



[Question ID = 664]

1. Behaviorism / cgdagRdie, [Option ID = 2654]

2. Ethology / 3R fa=TeT [Option ID = 2655]

3. Psychoanalysis / #FAITaewoT [Option ID = 2656]

4, Social cognition / AT FaTeT [Option ID = 2653]

Correct Answer :-
« Social cognition / AT FaATeT [Option ID = 2653]

35) Mean is
ACYATT &
[Question ID = 680]

1. the statistical average in which all scores participate / TIfETHRT 3ad, T T TR AT oid & [Option
ID = 2720]

2. the most frequently occurring value / € 31ftish R 3T aTell Hed [Option ID = 2717]

3. the only measure of central tendency / dIar 9gfcd T TehaATS 39T [Option ID = 2719]

4. a value that divides the data in two equal parts / Ts HI, S 3TThsT FI &l sRTaR d791 & i sar g
[Option ID = 2718]

Correct Answer :-

« the statistical average in which all scores participate / Gif&T 3iad, 5T T TR T &
[Option ID = 2720]

36) Most frequently occurring number in a set of numbers is

TEATHT & TF WY A WaN AT TR A ATl FEAT FEd &
[Question ID = 673]

1. range. / 38R [Option ID = 2692]

2. standard deviation. / #TeTe faareleT [Option ID = 2690]
3. median. / AT [Option ID = 2689]

4. mode. / Elg?«n% [Option ID = 2691]

Correct Answer :-
e mode. /agsn‘m [Option ID = 2691]

37) Languages are the medium through which most knowledge is constructed so a teacher must
remember that

HTTE & ATEAH § FOHaTR 7T &7 g9 3110 1o B smar §, s@fore Rrats #1 TAr [T 91T #Y
[Question ID = 705]

1. all learners must learn in several possible mediums and ways. / @iy fRrenf=t & fafaer aAregaT ik 7wt &
Hrgar arfgu| [Option ID = 2820]

2. all learners must learn to speak fluent English and other important languages. / @eft T2t &r garg-efer
3N 3R 31T Ayt I3 7 St dr@=r @ifgel [Option ID = 2817]

3. they must be given space in all knowledge systems and structures. / 3¢ T AT cTGTATHT 3R FTAT3HT
# TUTe fear Srer @nfgel [Option ID = 2819]

4, they are closely tied to the thoughts and identity of the learners. / @ faaRT 3iX el $r ggareT & Awear
&y gU &1 [Option ID = 2818]



Correct Answer :-

38) Kothari Commission recommended what percent of GDP to be earmarked for education?

ISR AT 7 e F v S F frasr gfoera ey 7 AuiRa @ fravgfa dre ?
[Question ID = 709]

1. 5 [Option ID = 2836]
2. 10 [Option ID = 2833]
3. 20 [Option ID = 2834]
4. 6 [Option ID = 2835]

Correct Answer :-
e 6 [Option ID = 2835]

39) A standardized tool should be/U% ATAHIHd ITHIOT gl TR
[Question ID = 685]

1. Valid and time bound / 3% 3iR @&geg [Option ID = 2740]

2. Periodic and testified / @mafies 3K 90T [Option ID = 2738]
3. Reliable and valid / faRadeirr 3iX &1 [Option ID = 2739]

4, Reliable and general / fa2a@siar 3R @@= [Option ID = 2737]

Correct Answer :-
« Reliable and valid / fa2ageirr 31X &&r [Option ID = 2739]

40) “Diversity of stimulation means novelty, and novelty means challenge to thought” is the
statement given by to include and celebrate diversity in schools:

"SieaTest 1 Rafderar 1 3¢ ¥ Fdlieran, st wAdfierar #1 o Raw # getd & & a7 Fue Rggret § Ry
FT 30 AAW AR TR AFAfATF@A FAC___ gErr Rar €

[Question ID = 690]

1. Rabindra Nath Tagore / Ifdg=r2r ¢3R [Option ID = 2758]
2. Mahatma Gandhi / #gTe#T aedt [Option ID = 2757]

3. John Dewey / SifaT 31dT [Option ID = 2759]

4, Paulo Freire / 913elr ¥ [Option ID = 2760]

Correct Answer :-
« John Dewey / SiteT 8YdY [Option ID = 2759]

41) Rina is popular among her relatives and family friends for being very obedient and helpful.
She receives small tokens of appreciation from them which really pleases her. She is evidently at
the following Stage of Kohlberg’s theory of moral reasoning.

ﬂm,mmﬁuﬁsﬂrwa:ﬁaﬁ:mwagamsﬁrmaﬁ#mm%lwm?ﬁ#mm
F BIE YIB! HY YIod T 3W H AR AT FIAT &1 T8 TISCIAT Froargdl d aAfdd-ae R@gid & FAe=fa@d
TIOT 9T &

[Question ID = 677]

1. Good Boy- Nice Girl Orientation / 3T&T TIShI-3TTH ST 3eH@dT [Option ID = 2707]



2. Punishment-Obedience Orientation / gUs-31TATRTRdl EEzitenl [Option ID = 2705]
3. Social Contract Orientation / HTHITSS IS 3=H@T [Option ID = 2708]
4. Personal Reward Orientation / caf&deTd IXEHR 3=H@dT [Option ID = 2706]

Correct Answer :-
« Good Boy- Nice Girl Orientation / 3T<&T IShI-31<eT MB?@EHT [Option ID = 2707]

42) Education ought to be for them (children) a kind of insurance against unemployment. Whose
viewpoint is this?

R8T 3% (a=at) AT R & RAeg fi#7AT Qe Ifew| I8 fFawr efoehior @2
[Question ID = 740]

1. Aristotle / 31T&q [Option ID = 2960]

2. Rabindranath Tagore / IfazgaATy X [Option ID = 2957]
3. Mahatma Gandhi / #gTcHT 3Trely [Option ID = 2958]

4. Pluto / Tefel [Option ID = 2959]

Correct Answer :-
« Mahatma Gandhi / #glcaT It [Option ID = 2958]

43) Educational psychology possesses a well-organized systematic body of facts which is
supported by the

MAF ANRAAR, a3t F1 v caafeyd Re g, ot F aafia g
[Question ID = 712]

1. Laws and principals of nature / Sehfer & foierar R R&gic garT [Option ID = 2846]

2. Biological laws and principals / Sifdh @efsT 3R f&egid garT [Option ID = 2845]

3. Guidance and counselling / ARTEETT 3R 9RTAHLT aRT [Option ID = 2848]

4. Psychological laws and principals / #IdTea aelet iR Reara gan [Option ID = 2847]

Correct Answer :-
+ Psychological laws and principals / #eitd#iTieleh shielet AR fAtare garT [Option ID = 2847]

44) If a child is born deaf, he will face difficulty primarily in:/37R v T afiR de1 SYem &, 39 7w
T H HTSATS FT TTHAT HIAT 91T

[Question ID = 692]

1. Adapting biologically / Sifde &9 & 3fefehefeT [Option ID = 2768]

2. Going through Erikson’s stages / TR I 3G 131 & =T [Option ID = 2767]
3. Learning by language experience / $1TST-37]37d 2aRT 31f&9Te [Option ID = 2766]

4, Relationship with parents / ATAT-TadT & |14 Heer [Option ID = 2765]

Correct Answer :-
« Learning by language experience / $TT-37=]87d &@RT 3ife&rar& [Option ID = 2766]

45) Who of the following said this "I am strongly of the opinion that women should have the
same facilities as men and even special facilities where necessary".

feafaf@a # & fraer 81 T "3 37 TeaTgd® A ¢ B Afgensit # gout & wwer gRuw sk g5 aF 5
faery gfawm, St smaes 8" Aee @ikl



[Question ID = 669]

1. S. Radhakrishnan / 8. IemehsuTe [Option ID = 2673]

2. Sri Aurobindo / #Y 3Rfd=¢ [Option ID = 2676]

3. Mahatma Gandhi / #FGTcHT 31T [Option ID = 2675]

4, Swami Vivekananda / Tam#T fadeshleteg [Option ID = 2674]

Correct Answer :-
 Mahatma Gandhi / #gIcAT el [Option ID = 2675]

46) Who of the following emphasized that "If you do not raise the women who are living
embodiment of the divine mother, don't think that you have any other way to rise".

fArafaf@d & ¥ fraa oo 3T Fer F "I 37 ARt F 7€ sord § A Ry A w1 wewd AR § Y Fg
FAS o ATIH I I 38 AT 3T HIS A" |

[Question ID = 662]

1. Rabindra Nath Tagore / Ydeg =T E3MR [Option ID = 2647]
2. Mahatma Gandhi / FGTcHT 31T [Option ID = 2645]

3. Shri Aurobindo / #f 3Rfd=¢ [Option ID = 2648]

4, Swami Vivekanand / Taret fadepreie [Option ID = 2646]

Correct Answer :-
« Swami Vivekanand / Tam#T fadereg [Option ID = 2646]

47) Who translated Binet test of Intelligence into English?
gt ¥ e Txe #1 33Sh 7 sreare frae fmar?
[Question ID = 717]

1. Lewis Madison Terman / o[$& #f3&sf <¥# =T [Option ID = 2868]
2. John Dewey / SiisT 34T [Option ID = 2866]

3. Herman Ebbinghaus / g3+ Tisd181d [Option ID = 2867]

4, Leona Tyler / forgl=ir errek [Option ID = 2865]

Correct Answer :-
« Lewis Madison Terman / e[$& #fS&eT €¥#sT [Option ID = 2868]

48) Who believed that "Education is the development in the individual of all the perfection of
which he is capable".

FieT ATTar o1 o "RYaT 39 qotar w1 afFa # e § oW ag gaer 3
[Question ID = 676]

1. Froebel / isier [Option ID = 2704]

2. Aristotle / 3& [Option ID = 2702]

3. Kant / e [Option ID = 2701]

4, Pestalozzi / 9&caltsir [Option ID = 2703]

Correct Answer :-
« Kant / @7e [Option ID = 2701]



49) Who stated that "Children should never receive punishment as such, it should always come
as the natural consequence of their action".

Fas FgT F "T=al F) F ot o1 AT A TRT, T§ gAAT AR FRTE) & Farerfaw gl F T FH rer
TIfRT” |

[Question ID = 683]

1. Rousseau / &&T [Option ID = 2729]

2. Kilpatrick / frerdfee [Option ID = 2731]

3. Dewey / 3XdY [Option ID = 2730]

4. Swami Dayanand / TaTHY g3Tele¢ [Option ID = 2732]

Correct Answer :-
 Rousseau / 4T [Option ID = 2729]

50) In Art Education, training of the hand and the eye is only a tool, the real objective is to build
a:

FeT T e H, g1 3R 37" FT IRAETT Fad T SYFIIT 8, 3HT aIEATAF 32T &
[Question ID = 711]

1. creative, intelligent and sharp identity / TaeiTceeh, igaTeT iR FH2MMar ggaT=l &1 fAAT0T [Option ID = 2844]

2. creative, confident and smart personality / Ta=Tcaeh, 3TcATaRaTd 3T 3MHYH cafFdca Fr A0 [Option
ID = 2843]

3. creative, productive and developed economic identity / Ta=ITcH, 3cdleah 3R AT 3t ggar
fS#ToT [Option ID = 2842]

4. creative, fulfilled and well-balanced personality / TaeTcH s, TRYET 3R e e ¥ Hfoid sdfehaca &r
fa¥#ToT [Option ID = 2841]

Correct Answer :-

« creative, fulfilled and well-balanced personality / TeeiTcateh, IRYUT 3R eI e & Fford gfeFdea
fAToT [Option ID = 2841]

51) Magna Charta of Indian Education was
SR FRY&TT T HaaT Fret a1
[Question ID = 723]

1. Macaulay Minute / #erer fee [Option ID = 2890]
2. None of these / 38 & IS A&r [Option ID = 2892]
3. Adam’s Report / T# &1 gfddeeT [Option ID = 2891]
4. Wood's Dispatch / gg & fS&t=r [Option ID = 2889]

Correct Answer :-
« Wood’s Dispatch / g3 @ f&d= [Option ID = 2889]

52) Critical Consciousness
HATATIATCHS delell
[Question ID = 697]

1. is untrue / 3/ g [Option ID = 2788]



2. is helpful in critically examining the situation / TATAIIATHS &9 & AT FT ST =T 7 T & [Option
ID = 2787]

3. seeks to bring critical awareness of individual / 3afade Agca o YT SRR STl A8 g [Option ID =
2786]

4, seeks to uncover the ideological distortions of knowledge / AT &T daTRFH ﬁmﬁr&’r FI 3SR FIAT AT &
[Option ID = 2785]

Correct Answer :-

« seeks to uncover the ideological distortions of knowledge / =TT &I 3R TAH T T ISR HI=AT ATE
& [Option ID = 2785]

53) Exchange of text, graphics and sound by two or more people (connected to the internet) at
the same time comes under

ar a1 3 aret & gErT Rwreasg #1 Rfawy, smaw 3k eafa (seetee & qarr awafea) FT o fana
R gl

[Question ID = 679]

1. E-mail Communication. / $-#ef aR [Option ID = 2715]

2. Asynchronous Communication. / 3f#eTTeleh HIR [Option ID = 2714]

3. Synchronous Communication. / ¥H®Ifeledh AR [Option ID = 2713]

4. Non-Synchronous Communication. / 3R-8#eTfeles IR [Option ID = 2716]

Correct Answer :-
« Synchronous Communication. / ¥#FeTTeleh HAR [Option ID = 2713]

54) How much is the coefficient of Kurtosis in a normal probability curve.
TF AT W a3 F FRAw &1 apon fraer g
[Question ID = 695]

1. 0.336 / 0.336 [Option ID = 2780]
2.0.263 / 0.263 [Option ID = 2777]
3.0/ 0 [Option ID = 2778]

4.0.363 / 0.363 [Option ID = 2779]

Correct Answer :-
e 0.263 / 0.263 [Option ID = 2777]

55) A type of physical disorder that involves lack of muscular coordination, shaking or unclear
speech is known as

TF YR F71 ANRF AR G ARt & g@eag i ), FFae 91 I3TTse H9oT 1t &, FETH
ST ST &

[Question ID = 756]

1. Articulation disorder / faaR-FH= 312/@FddT [Option ID = 3023]
2. Epilepsy / H<&T0T [Option ID = 3022]

3. Cerebral Palsy / #fEdSH geIrand [Option ID = 3024]

4. Down Syndrome / 313 f&3re [Option ID = 3021]

Correct Answer :-
o Cerebral Palsy / #f&asa gairara [Option ID = 3024]



56) Hippocampus is found in

Rearraw # 9rIT FTaT
[Question ID = 716]

1. Ecological settings / IiRf&ufae Tum9eT [Option ID = 2861]

2. Fossils / Sirared [Option ID = 2864]

3. The circulatory system of a neonate / Teh sTareiTd RIY[ T AR JoTell [Option ID = 2863]
4. The human brain / #Ta ARETSH [Option ID = 2862]

Correct Answer :-
« The human brain / ATead ATEdsH [Option ID = 2862]

57) Losing the chance to go to play with friends in a P.T period in school because you had
damaged a school window in the last period is an example of:

fagzrer & f1.&). Fawm 7 Sreal & aryr W F1 Al W FF 39 Roel Fam 7 R fi @sHr
&TfAaIea T AT U1, SHFT U 30T &

[Question ID = 752]

1. Positive Reinforcement / HehRTcHe FearehioT [Option ID = 3005]
2. Punishment by removal / faseT&sT arRT gUs [Option ID = 3006]
3. Punishment by application / Hﬂm GdRT gUs [Option ID = 3008]
4. Negative Reinforcement / Wﬁ?ﬁw [Option ID = 3007]

Correct Answer :-
« Punishment by removal / fassTHeT gaRT gUs [Option ID = 3006]

58) Programmed Instruction was developed by
FTAFRAT rgeereT fras garT R frar = ar?
[Question ID = 702]

1. Thomas Gilbert / &fad faresc [Option ID = 2807]

2. Norman A. Crowder / if&isT T. S135T [Option ID = 2806]
3. B.F. Skinner / &1.t%. f&&haX [Option ID = 2805]

4. None of these / 8T8 & I3 =Tgf [Option ID = 2808]

Correct Answer :-
o B.F. Skinner / &r.t%. &&= [Option ID = 2805]

59) Aschemaisa

TH FhATE
[Question ID = 732]

1. cognitive change. / TATTcH® IRadsT [Option ID = 2928]

2. process of balancing old knowledge and new information. / GRTeT 71T 31X S STIeTehRY ST HelfeTel et T
gfehar [Option ID = 2926]

3. process of taking in new information and experience. / &8 STTeTehRT 3T 3eJ87a IEVT =1 T Ffshar [Option
ID = 2927]



4. category of knowledge that allows us to interpret or understand the world. / 31T ST S0l St g gfaam v
AT e IT HAS 1 ITAT &l & [Option ID = 2925]

Correct Answer :-

« category of knowledge that allows us to interpret or understand the world. / =TT & Aol Sit g&F gferar &
SATET hiet AT THSTA T AT &l & [Option ID = 2925]

60) In the 19th century, three new powerful tendencies of thought influenced all of the social
sciences. They were

194} @Y &, = iy et 7t arfFaemelt ygfcaat o waft arnfars Rt # yenfaa fram & ot
[Question ID = 734]

1. socialism, parochialism and evolution / EHTSIATE, HehIoTdT 3R siAeH-faerd [Option ID = 2935]

2. cartesianism, positivism and evolution / FIETHIAAET, TeTeTdre 3R HiAs-fasra [Option ID = 2936]
3. positivism, socialism and evolution / Jca&TaTe, HATSIATG 3R HiF®-Tashra [Option ID = 2934]

4, positivism, humanitarianism and evolution / Ycg&TaTe, ATadrdrg 3R HiAs-fasra [Option ID = 2933]

Correct Answer :-
« positivism, humanitarianism and evolution / ¥ca&TdTg, HAlAddTdG 3R shiAeH-fasr [Option ID = 2933]

61) Choose the pair of theorists who have worked in similar areas.
a. Binet & Terman

b. Gardner & Sternberg

c. Piaget & Kohlberg

d. Freud & Erikson

Rgiaert & Zea &1 gora Y, Siegia Wt & & w1 R
a. e sk &&=

b. ISR 3R Tedwar

c. STa 3 Feaet

d. wrgs 3R Rewa

[Question ID = 706]

1. a &b/ a 3R b [Option ID = 2822]
2. a &c/ a 3R c [Option ID = 2823]
3. b &d/ b 3R d [Option ID = 2824]
4, c &b/ c 3R b [Option ID = 2821]

Correct Answer :-
e a&b/a3ikb[Option ID = 2822]

62) Systematic change in mental processes that underlie all learning and performance is
referred to as

Tt HrEe 31k veela & aAEe areh AR ufhans § sgafeya WRada s e amar g
[Question ID = 722]

1. Cognitive Development / T=eiTcaeh faehr [Option ID = 2886]
2. Moral Development / sifae faera [Option ID = 2885]

3. Intellectual Development / sifge faer [Option ID = 2888]

4. Physical Development / 2MIRe faerra [Option ID = 2887]



Correct Answer :-
« Cognitive Development / EaITATcH® faerd [Option ID = 2886]

63) Anil is thirty years old and is unable to decide upon a career for himself. None of his jobs last
more than six months. He exhibits signs of

Ffarer e ad 1 8 3R T F AT v sqawrT F1 gaE w9 F 39w g1 360w F18 o w7 o A6 ¥ AfNw
AT aF A4 Tl T8 ¥ Reg wERia Fard

[Question ID = 738]

1. Identity achievement / 9gdreT 39aifstr [Option ID = 2950]
2. Identity diffusion / 9gdTeT TR [Option ID = 2951]

3. Identity foreclosure / 9g=Tel qIser [Option ID = 2949]

4, Moratorium / 31T [Option ID = 2952]

Correct Answer :-
« Moratorium / 31f8¥eTeT [Option ID = 2952]

64) Vygotsky theory must directly support cooperative learning strategies that are evident by
TN F G w1 Aawt dr@ar A [Ravor oAl w1 @ w3 e, Sasr yamr ghn

[Question ID = 720]

1. Students in competition / BT & wfaTaeT [Option ID = 2880]

2. Student helping each other in learning / BT-STATT Teh gEY T @A 7 FAeg @ & [Option ID = 2877]

3. Students are role models for other students / TII-GIATT 37T STH-BTAT31 & oI 31meeT & [Option ID = 2878]

4, One student helps all student to learn / Teh &1F T3fY SEH-STA3T FI HE@S 7 A HIAT/FHLAT & [Option ID =
2879]

Correct Answer :-
« Student helping each other in learning / BTI-BTAIT Teh gEX &1 HIEeT H FHeg 16 & [Option ID = 2877]

65) Chairman of Calcutta University Commission was

Feldcd! [aeafaearera AT & regar &
[Question ID = 728]

1. S. Radhakrishnan / T& Ir&mesuteT [Option ID = 2909]
2. Kothari / @R [Option ID = 2912]

3. Mudaliar / #ef=R [Option ID = 2910]

4, Sadler / #seR [Option ID = 2911]

Correct Answer :-
« Sadler / #3eR [Option ID = 2911]

66) Match the following symbol words with their respective schools of psychological theories:

I II
(i) Repressed desires (a) Functionalism
(ii) Introspection method (b) Structuralism
(iii) Heredity directs psychological development (c) Behaviorism
(iv) Humans are free to choose (d) Psycho-analysis

(e) Humanism



R T 7T T e 1 TUTHA 3a9F A RAgrar Hr araEnsit F a7 e F{

I II
(i) A FHATT (T) yhRiae
(ii) arcafaeayor fafer (&) TXTeETg
(iiii) IrTarwar A few w1 AL FA (W) FeRae
(iv) #7799 & v Faa § (@) IS
(3) ATadma

[Question ID = 753]

1. (i)-c, (ii)-a, (ii)-b, (iv)- d / (i)-&, (ii)-T, (iii)-a, (iv)-2Y [Option ID = 3009]
2. (i)-b, (ii)-d, (iii)-a (iv)-c / (i)-a, (ii)-2, (iii)-T, (iv)-8 [Option ID = 3012]
3. (i)-d, (ii)-e, (ii)-b, (iv)-c / (i)-3Y, (ii)-g, (iii)-a, (iv)-HY [Option ID = 3011]
4. (i)-d, (ii)-b, (iii)-a, (iv)-e / ()-2x, (ii)-, (iii)-T, (iv)-g [Option ID = 3010]

Correct Answer :-
« (i)-d, (ii)-b, (iii)-a, (iv)-e / (i)-3r, (ii)-d, (iii)-T, (iv)-3 [Option ID = 3010]

67) Match the following based on Piaget’s theory of cognitive development

(1) Formal Operational Stage (a) Pretend Play

(2) Sensorimotor Stage (b) Ability to Conserve number, mass and weight
(3) Pre-operational Stage (c) Ability to think about logical possibilities

(4) Concrete Operational Stage (d) Achievement of Object Permanence

RaTe & TAETCAS [@e & Rgia & IR | Aeafaf@d &1 @de s¢

(1) itvaRe GfFATeA® 3rgeaT  (T) ATCF HIAT

(2) TIEFIOT 3rTEUT () TETT, geuAT AR aoTeT F TIETOT Y &7HAAT
(3) 1@ wiFarens sraear (¥Y) AT FoTa=Tait & IR & |raer i a7ar
(4) 7 wfFaTeHA® e (2Y) aFg FATe Y 3TN

[Question ID = 748]

1. 1-b, 2-d, 3-c, 4-a / 1-d%, 2-21, 3-¥, 4-T [Option ID = 2991]
2. 1-¢,2-b,3-a,4-d / 1-8T, 2-d%, 3-T, 4-2r [Option ID = 2992]

3. 1-c, 2-d, 3-a, 4-b / 1-&, 2-31, 3-T, 4-dY [Option ID = 2990]
4. 1-a, 2-c, 3-b, 4-d / 1-T, 2-&, 33, 4-37 [Option ID = 2989]

Correct Answer :-
e 1-c, 2-d, 3-a, 4-b / 1-4, 2-31, 3-U, 4-Y [Option ID = 2990]

68) Sending personal reply to a whole online community is breach of
UF FFQOT TS HHGTT FY SATFANT T F Iea &1, Ioaiae FT §
[Question ID = 693]

1. Security / §& T [Option ID = 2771]

2. Trust / faear® T [Option ID = 2769]

3. Netiquette / sie-frser@r & [Option ID = 2770]
4, Legality / #IT-E3TeTT T [Option ID = 2772]

Correct Answer :-

« Netiquette / Ae-frseraR & [Option ID = 2770]

69) Swayam Prabha is



T g 8
[Question ID = 665]

1. one DTH Channel / T& 31.E1.TT e [Option ID = 2659]

2. a group of 32 DTH Channels / Sccil® TeTel &7 Th HHg [Option ID = 2660]

3. an independent online platform for learning / 3191 & foT Te Tada 3ifTassT H [Option ID = 2658]

4, a part of (online) SWAYAM platform for learning / 31831 & foIT U (3iTeTalsa) TaT (SWAYAM) T T 19T
[Option ID = 2657]

Correct Answer :-
« a group of 32 DTH Channels / cci¥ sTel &I Teh g [Option ID = 2660]

70) Among the learning disabilities, the name for a reading disorder is
HOaTe arersFaansit /, Tod AFR FTAH §
[Question ID = 743]

1. Dyscalculia / 3@ ferar [Option ID = 2971]
2. Dysgraphia / f@anftar [Option ID = 2969]

3. Dysphasia / F3a%f&r [Option ID = 2972]

4, Dyslexia / f3&afaaar [Option ID = 2970]

Correct Answer :-
o Dyslexia / [3Feifeaar [Option ID = 2970]

71) Elaborative rehearsal is a way to transfer information from

TG 7T, AAFR P FAATRAT FIA FT T qOH 8
[Question ID = 751]

1. Long Term Memory to Short Term Memory / aiedT &8 AT & QAT ¥ AARY [Option ID = 3003]
2. Sensory Register to Short Term Memory / Tadr IToeX & 2M¢ T AART & [Option ID = 3002]
3. Sensory Memory to Long Term Memory / TadT HART & greehlforeh HANRT & [Option ID = 3001]
4. Short Term Memory to Long Term Memory / 2IT¢ @8 AART & aliedT €& AART [Option ID = 3004]

Correct Answer :-
« Short Term Memory to Long Term Memory / QIT¢ T HART & dlleaT <& HART [Option ID = 3004]

72) For Dewey, children are

AA & faw, a=a &
[Question ID = 670]

1. active, dependent for guidance, problem-creating creatures / ®fsha, ARG I IR, THAEAT T Folol el
arerr 9ofY| [Option ID = 2679]

2. active, dependent for guidance, problem-oriented creatures / @fshd, ARTEYH TR R, HHAEAT-3-79 grofr|
[Option ID = 2677]

3. active, exploring, problem-solving creatures / Tfshd, =AYUT FeT ATAlT, FHEIT-THATUTT et aTell HTOTT|
[Option ID = 2678]

4. active, exploring, problem-oriented creatures / s, Wsiel aTelT, HHEAT-3-7@ HT0f| [Option ID = 2680]

Correct Answer :-



« active, exploring, problem-solving creatures / Tfshd, 37=aAVUT et AT, HTIT-THTETT ST aTell 90T |
[Option ID = 2678]

73) Macaulay wrote his famous Minute on
AT F 39T WG o Fa foram ar?
[Question ID = 718]

1. Feb. 2,1835 / wYadr 2, 1835 [Option ID = 2870]
2. Feb. 2,1834 / walr 2, 1834 [Option ID = 2872]
3. Mar. 2,1835 / & 2, 1835 [Option ID = 2869]
4, Mar. 2,1834 / A 2, 1834 [Option ID = 2871]

Correct Answer :-
 Feb. 2,1835 / w¥adr 2, 1835 [Option ID = 2870]

74) Geogebra, PhET, and Stellarium are some of the examples of

fr3istsT, PhET 3k ®eaRas F& sereor §
[Question ID = 686]

1. Discipline Specific ICT Tools / fawzr fafrse 3.4 &. 39T [Option ID = 2742]
2. Language Learning Tools / #TST 31f&e7eT 39T [Option ID = 2743]

3. Science Learning Tools / Ta=iTeT 317918 39aoT [Option ID = 2744]

4, Mathematics Learning Tools / 10T 31f&eTer 39ehioT [Option ID = 2741]

Correct Answer :-
« Discipline Specific ICT Tools / fawr fafarse 3.4 &, 3gaor [Option ID = 2742]

75) What is the value of coefficient of skewness in a Normal Probability Curve?
AT GHTEAT Tk H THAH, & I[VITH T ATl F4T 82
[Question ID = 688]

1. More than Zero / =& & 37f& [Option ID = 2750]
2. Less than Zero / = & &# [Option ID = 2751]

3. Zero / [=7 [Option ID = 2749]

4. None of these / =137 & I =T& [Option ID = 2752]

Correct Answer :-
* Zero / =T [Option ID = 2749]

76) What type of data should be taken in Sampling?
AHATHIOT H 57 o & M3 o Aige?
[Question ID = 681]

1. Which can be easily studied. / foeT 3reaesT 3maret & foham ST @ehar & [Option ID = 2722]

2. Which can be easily selected. / T8 3T & AT ST Hehl 81 [Option ID = 2721]

3. Which represents the whole population. / 3 @I sterd & &1 Sfafafiica & g [Option ID = 2723]
4. None of these. / 38 & IS A&l [Option ID = 2724]



Correct Answer :-
« Which represents the whole population. / St 93 SterdeEar & gfafaftica sid g [Option ID = 2723]

77) Common School System was recommended by
[Question ID = 744]

1. Kothari Commission / @I&RT 31A19T [Option ID = 2975]

2. Hunter Commission / §eX &2 [Option ID = 2976]

3. Secondary Education Commission / ATea A &1 3maier [Option ID = 2973]
4, National Education Policy 1986 / Irs¢rar ferear siifr 1986 [Option ID = 2974]

Correct Answer :-
« Kothari Commission / @ISR 31119 [Option ID = 2975]

78) Open Education Resources
HF e wqTeT

[Question ID = 672]

1. cannot be non-digital resources / #AiI-f3fSieer TATY T & TehdT & [Option ID = 2688]
2. do not need any licenses / T THET 81 1T ATTT T ITARIHT w¥gT 81l [Option ID = 2686]
3. permit no-cost access / Fed gl TALN T 3TAT & & [Option ID = 2687]

4, are proprietary resources / Tfcde TATYT g [Option ID = 2685]

Correct Answer :-
» permit no-cost access / Hed g Faer T 3eTATT & & [Option ID = 2687]

79) A teacher made her student work one extra hour during break for not finishing class
assignment on time. The following is an example of

T 4T A IR S B FHT W F&T FE QU T A & TAT IO F THI T AR g F1o7 FIam|
frafaf@e frae semeor §

[Question ID = 701]

1. Positive Reinforcement / HehRTcHe YeTsielst T [Option ID = 2803]
2. Punishment / €Us =T [Option ID = 2802]
3. Negative Reinforcement / FhRTcHh gdéoiﬂ &l [Option ID = 2804]
4. Reward / 93&hI =T [Option ID = 2801]

Correct Answer :-
e Punishment / gus =1 [Option ID = 2802]

80) Inclusive societies need to recognize the presence of diverse citizens by providing:
a. Barrier free environments

b. Advocates to ensure implementation of Disability reservation

c. Educational facilities that benefit diverse learners

d. Toilet facilities in public spaces

Choose the correct response or responses



AT WAt A fafaer ARt fr sufrafa i wgae ¥ @RI 3T FIA $T ATITST ¢
T. Y F{Fd Frdraor

. rerEFaaT NATOT & FHTeads F AR w3 & v aegfa

. &t gReTd, St Rfty Rl ) aenfeaa #t

31 rdstfars Tyl & Aterey A giaur

weY wfafear ar wfafsast w1 gome w4

[Question ID = 699]

1.a,¢, &d/ T, @ 3R 3 [Option ID = 2793]

2. All of these / & &8t [Option ID = 2795]

3. None of these / =13 & &I =A&T [Option ID = 2796]
4, b & c / & 3T & [Option ID = 2794]

Correct Answer :-
« All of these / T 3T [Option ID = 2795]

81) The accepted value of Existentialists is:
facaarfeat & e&figa 7o
[Question ID = 737]

1. Freedom / Tad=dr [Option ID = 2945]

2. Symmetry in nature / 9ehfct & HHEEIAT [Option ID = 2946]
3. Enlightenment / 3TTcA=ATeT [Option ID = 2948]

4, Credentials / SATOTRAT [Option ID = 2947]

Correct Answer :-
« Freedom / T@dadr [Option ID = 2945]

82) The report of the National Education Commission is entitled as
TS FRY&TT AT & fadeeT &1 ofide &
[Question ID = 736]

1. Education and National Development / fr&Tr 3iR I s [Option ID = 2941]
2. Learning by doing / @3 |r@aT [Option ID = 2944]

3. Integrated development / EH3r fd&r& [Option ID = 2943]

4. National Development Report / TsErr faera wfadesT [Option ID = 2942]

Correct Answer :-
« Education and National Development / fRrefr 3iR Is&r=r faera [Option ID = 2941]

83) The symbolic aspect of introducing local crafts and production related skills and knowledge
in the school, in Gandhi’s basic education was:

areft iy giaardY Rram & sadta Txer Brarwaral F vuarir Rew ik scarger e shrer qur e # v o
HT Felleh 9 & FHROT 4T

[Question ID = 684]

1. Allocation of a substantive place in the school to systems of protest developed by oppressed groups. / @3
G @R fahT 37T Faer Fa&q Y facATery 3 Ueh AgeaquT ¥ &I 31Tdes [Option ID = 2734]
2. Allocation of a substantive place in the school to systems of manufacturing developed by oppressed groups.

[ N3T THET SanT AR AT 3cdrest YoTel 1 faeATerd 7 Ush HAgeaqul FATe & 37Tdes [Option ID = 2733]



3. Allocation of a substantive place in the school to systems of resistance developed by oppressed groups. /
NS woE! qanT faefaa iRty saawar 1 fagarera 7 T Agcaqut ¥TeT &1 3mdest [Option ID = 2736]
4. Allocation of a substantive place in the school to systems of knowledge developed by oppressed groups. /

NS gt GarT fasfd FAeT-fareT ol &1 fdearery & Te FAgeaqol ¥ & 31des [Option ID = 2735]

Correct Answer :-

« Allocation of a substantive place in the school to systems of knowledge developed by oppressed groups.
[ NS THET GarT fah e ATT-TaaATet Jorel & faghTery # Tk HgcdqoT AT I 31TaesT [Option ID =
2735]

84) The purpose of which Convention is to “"promote, protect and ensure the full and equal
enjoyment of all human rights and fundamental freedom by all persons with disabilities and to
promote respect for their inherent dignity”.

e wree &1 3307 "welt Rearearet & ganry weft AmafaeRY 3 Ferera Facar Ft agrar &=, T FE
3t 3t 3% e A & fre gean # gARaa st

[Question ID = 660]

1. All of these / & @&t [Option ID = 2640]

2. The Universal Declaration of Human Rights, 1948 / ATia 38Rt $r @rasiifae aivom, 1948 [Option ID =
2638]

3. The UN Convention on the Rights of Persons with Disabilities, 2006 / feeaTer safererail & fAIHRT W g
IISg TFReIET, 2006 [Option ID = 2639]

4, The Rights of People with Disabilities Act, 2016 / fGeaRTST=T T ISR 3T, 2016 [Option ID = 2637]

Correct Answer :-

« The UN Convention on the Rights of Persons with Disabilities, 2006 / feeamaT safaddar & 3R W
gl TS HEAI, 2006 [Option ID = 2639]

85) The syndrome of autism refers to which of the following difficulties in the developing child?

HTCATAAE FT J&T0T AFTAT FTerh A AFAfAT@T §  TFeT Fioasal F Gefia Far?
[Question ID = 678]

1. Disturbance in eye-hand coordination / 31T@-gTY ¥H=ag & 14T [Option ID = 2712]

2. Impairment in social behavior and relatedness to others / HTATTSTeh eTaeR 3N GERT & AT HIgl H Fiiel
[Option ID = 2711]

3. Impairment in the ability to solve puzzles / Fgel T FeTsTlel ST &THdT H g1fel [Option ID = 2709]

4, Delay in the capacity to associate names with faces / IgRT o AT AT I TFAG el hl &THT H &1 [Option
ID = 2710]

Correct Answer :-

« Impairment in social behavior and relatedness to others / HTHTTSTR caagR 31X GERT & AT Haga H gifat
[Option ID = 2711]

86) The Staff College was renamed as National Institute of Educational Planning and
Administration in

TP FHictsT FT ATH TGAHT AAAT SELICIL B TShreTel CelTiaiar Us UsfAfaweerT w@r ar
[Question ID = 741]

1. 2001 [Option ID = 2964]
2. 1980 [Option ID = 2963]



3. 1984 [Option ID = 2962]
4. 1976 [Option ID = 2961]

Correct Answer :-
e 1980 [Option ID = 2963]

87) The idea of schools clearly came from the two communities Gandhi had established in
South Africa, started in 1904, and , Which was established in 1910, provided him
with a lasting interest and faith in the potential of life in a

Rrererat 1 fer Tase w7 &, a1l garr gfavor snfer 7 wnfe frar e & et & sma g,
S 1904 3 g fam ara, ik T 1910 # TRa fFar T o1, # Sfraet Y aTAaT &
38 ¥l Y va fear yerT fRam

[Question ID = 715]

1. Productive, Phoenix Farm, Wardha Ashram, rural commune / 3cdTean, Hifaad wrel, aet 3msre, arseior
HHcTI [Option ID = 2860]

2. Productive, Phoenix Farm, Tolstoy Farm, rural commune / 3cqTeeh, Bfaad e, cTelEera BT, ATHOT
HHATT [Option ID = 2858]

3. Village, Phoenix Farm, Wardha Ashram, Village society. / 31id, ®feierd wrel, aul 31msre, aig IdTsT [Option

ID = 2859]
4, Village, Tolstoy Farm, Phoenix Farm, Village society. / 3IT#, ETaEerd W, Hifsierd BIe, I TATST [Option
ID = 2857]

Correct Answer :-
« Productive, Phoenix Farm, Tolstoy Farm, rural commune / 3cdigeh, Hfaed BT, STeerd B, JTHOT
HHTF [Option ID = 2858]

88) The concept of Blended-learning does not involve
AFABT-319H Y Ghoqar afEafad a8 e &
[Question ID = 700]

1. Integration of different media and methods together / Rafe=T TmereT 3 AT 1 var T ThIEoT [Option
ID = 2798]

2. Integration of all ways of traditional methods of teaching together / fRr&Tr &7 qRFRETT fafeat &1 v ary
TehIehoT [Option ID = 2800]

3. Integration of all ways of communicating electronically together / Telaeifaishell THT ThR & HIR &7 Tah AT
ThiehioT [Option ID = 2799]

4, Integration of Classroom and e-learning together / & 3R $-31f9T8 T Tk ATY THIEHOT [Option ID =
2797]

Correct Answer :-
« Integration of all ways of traditional methods of teaching together / fr&Tr fr ReaRrera faferat 1 ve ary
TehehoT [Option ID = 2800]

89) The Right to Education Act attempts to put power in local hands through local bodies. Which
of the following is not responsible for the implementation for this Act?

T &1 PR AAATA- TaT RFr F aeaw F, TaT gt & afFaT & w1 99w w4 81 5w AR
¥ FETEIT ¥ T PR § ¥ Fi9 Seer a8 2

[Question ID = 708]



1. State Commission for Protection of Child Rights / STel 31f8IRT & EIETUT & forT IS 3T [Option ID =
2831]

2. Village Development Officer / IImeT faera 31f8@RT [Option ID = 2829]

3. National Advisory Council / IS¢ HellgehR gikug [Option ID = 2832]

4. School Management Committees / faearera ystret wfAfam [Option ID = 2830]

Correct Answer :-
« Village Development Officer / I3 faehre 37T=RIT [Option ID = 2829]

90) The major focus of the National Policy on Education 1968 was to relate education to

fRram o3 ey Afer 1968 1 HET F faeg frem & waforT am
[Question ID = 682]

1. National development and child’s rights. / I&r=T fashra 31X ST & 31f8%R [Option ID = 2725]

2. National development and social change. / I fasra 31 @mEfSe aRada [Option ID = 2727]

3. National development and vertical mobility. / TsERr faera 3R Feater aifaeierar [Option ID = 2728]
4, National development and health system. / TS faera 3R TareeT sgawr [Option ID = 2726]

Correct Answer :-

« National development and social change. / Is&r=T faera 3R TETTSI® gRade [Option ID = 2727]

91) The method of Induction was given by which of the following thinkers.
ImHATHS fafty, frafaf@a famet & @ e garr & g o
[Question ID = 724]

1. Russell / T&e [Option ID = 2895]
2. Mill / f&ef [Option ID = 2893]

3. Hicks / fgea [Option ID = 2896]

4, Dewey / 3rdT [Option ID = 2894]

Correct Answer :-
o Mill / &< [Option ID = 2893]

92) The Constitution of India grants the right to religious minorities to conserve their language,
script and culture and to establish their educational institutions based on religion and language
under

HI T WAUT, Tfdie sreqaeas! Ft 3adt s, fAfy s avpfa & avaror &1 sfeR 3k 39% oo wa s
W IR AdF FEAam=T F ¥ aeta TUIRa F3 & forv srfrer aar B

[Question ID = 710]

1. Article 28 and 30. / 3isTed 28 31K 30 [Option ID = 2838]
2. Article 28 and 29. / 31@?&?:: 28 3ilX 29 [Option ID = 2840]
3. Article 29 and 30. / 3/Tes5 29 3R 30 [Option ID = 2837]
4. Article 27 and 28. / 3ieT=d 27 3R 28 [Option ID = 2839]

Correct Answer :-
« Article 29 and 30. / 37Tes5e 29 3R 30 [Option ID = 2837]



The difficulty in dealing with equality in education as a theory is its exasperating vagueness
because

% Rgid & T A, ‘a1 & AT F AT # FISATE, 379, INATT FIA drel) JETSEAT F FRT §, FITF
[Question ID = 691]

1. it is based on a political and philosophical meaning of equality. / Tg THTIAT & Teh IoTailicieh Td areifaieh 37197
9T 3R g1 [Option ID = 2761]

2. it has a complicated meaning with interesting implications. / 3T& Sifee 317 & @Y e AR &1 [Option
ID = 2762]

3. it purports that all children’s life can’t be theorized. / 3T 3R & for T s<al & SiaeT &1 Tgecireiol
sTeT fohdT ST FehdT| [Option ID = 2764]

4. it treats all alike, which offends against the notions of appropriateness. / Ig 3 T & AT Teh AT
SIAGR A 8, i 8 SugeFecrait T 4RoM & fa%g ITend S g1 [Option ID = 2763]

Correct Answer :-

« it treats all alike, which offends against the notions of appropriateness. / Ig 3T T3 o ATT Teh FATA
STAGR Al &, ST T STGerecI3it 1 UROT & fa%g 3maTed 3d & [Option ID = 2763]

94) The Rights of Persons with Disabilities Act, 2016 provides for the right of free education to
every child with benchmark disability between the age group of

e safFaat #1 aftsr srfafaw, 2016, fRFdirar are veds Te2 F Jrd Rar F1 3WFR v&=T w7
AT FT IR ¢, TE A gt F e ?

[Question ID = 703]

1. 0 and 18 years / 0 3iX 18 &TeT [Option ID = 2810]
2. 0 and 14 years / 0 3R 14 @rer [Option ID = 2809]
3. 6 and 18 years / 6 31X 18 @TeT [Option ID = 2812]
4, 6 and 14 years / 6 3iiX 14 @Ter [Option ID = 2811]

Correct Answer :-
« 6and 18 years / 6 3R 18 @Ter [Option ID = 2812]

95) The aims of education are decided by what considerations?

e & 387 P AR @ a7 v sma §2
[Question ID = 719]

1. Epistemological / ATHHRT [Option ID = 2874]
2. Metaphysical / dccadiadar [Option ID = 2873]
3. All of these / 3 @& [Option ID = 2876]

4, Ethical / sifas [Option ID = 2875]

Correct Answer :-
o All of these / & @3{T [Option ID = 2876]

96) The pre board examination result of English of a school indicates that the mean is 79,
median is 90 and mode is 95. Which of the following interpretations is correct on the basis of the
relationship between the measures of central tendency?

Wh@m#ﬁ-ﬁéﬁﬁaﬂma&ﬁm%ﬁmﬁsﬁﬁmmmm79%,m1n’a?90%3ﬁ1a§m’$
95 21 T ygfer & ATal & dfier wawt F IR W foeafaf@a # @ wla @ sarear w22



[Question ID = 727]

1. Fifty per cent of the students have scored more than 79 marks. / 9 Ufaerd & 31 ST A 79 3
31fota 3 €1 [Option ID = 2906]

2. Most of the students have performed poorly in the exam as indicated by a low Mean. / && HEIHATT Hohcl
gar & o orat & & 3rfeier o gdvetr F @ue yele R §1 [Option ID = 2905]

3. The mean is pulled towards the left due to a few students scoring low marks. / & oAt CART A 37 e
o ShRUT, ALYAT a5 AR WiaT 37 &1 [Option 1D = 2907]

4. The class performance reflects the latest trend of students scoring high marks even in languages. / &1

e BT & AT oToh # 8, 3T 37eh Yo &t T Adieldd gfea o1 goifar g1 [Option ID = 2908]

Correct Answer :-

* The mean is pulled towards the left due to a few students scoring low marks. / & OTAT GaRT & 37
9Ifed & HRUT, HETATA a1 3R diar g3 &1 [Option ID = 2907]

97) The objectives of DPEP are

S & 3T ¥
[Question ID = 747]

1. all of these. / & T3fr [Option ID = 2988]

2. to reduce difference in enrolment, drop out and learning achievement among gender and social groups to
less than 5 percent. / fofeT, AT HHgT & e AT, 3r9eqa R W@ H 3Tafcwr 7 3R & 5 gfaerd
¥ FA F&AT| [Option ID = 2985]

3. to raise average achieved level. / 31T 9Ted ¥R FIgAAT| [Option ID = 2987]

4. to reduce overall primary dropout rates for all students to less than 10 per cent. / T8fr ol & Fel
grafAe 39T T & &l 10 9fard & &H 1| [Option ID = 2986]

Correct Answer :-
« all of these. / T T [Option ID = 2988]

98) The author of ‘Small is Beautiful’, is
‘AT 3 AT F ATE ¢
[Question ID = 729]

1. Parsons / 9r&=d [Option ID = 2916]

2. Hicks / fgerg [Option ID = 2913]

3. Dewey / SYdT [Option ID = 2915]

4. Schumacher / [ATY [Option ID = 2914]

Correct Answer :-
* Schumacher / [ATHT [Option ID = 2914]

99) The term ‘Continuous’ as interpreted in ‘Continuous and Comprehensive Evaluation’ does not
relate to which of the following aspects?

Had 3R v Aeaiwa # ‘Haa’ 9g $ aredn, et & @ Fae sefta ad ¥
[Question ID = 667]

1. Diagnosis of learning gaps / 31f8eTa 3iaRTel &1 foigrer [Option ID = 2666]
2. Application of variety of techniques to assess the learner’s development / fRr&Ireit & faerrT T 3TTeheleT et
% AT deheileh T 99T [Option ID = 2667]



3. Use of corrective measures / URTcHS 39TIT T 91T [Option ID = 2668]
4. Regularity and frequency of assessment / fHf&ddr 3R 3rgfca a1 3Mieherst [Option ID = 2665]

Correct Answer :-

« Application of variety of techniques to assess the learner’s development / fr&meft & faera &1 3fTeheleT
FLat o fafay Tehelter o1 9AT9T [Option ID = 2667]

100) One of the five guiding principles of the NCF-2005 are:
TAHITE -2005 F 9T ATEF Rgia F ¥ v §
[Question ID = 698]

1. ensuring that learner is shifted away from rote methods. / Te=t aTel fafergt & et &t g gear giafad
=TT [Option ID = 2791]

2. making examinations fair, more professional and stricter. / G1&T3it @I feisger, 31t gicae 3R F&d Tl
[Option ID = 2792]

3. designing a new curriculum for the entire country. / 9 &2r & T 5T IT&AhA I st SATT [Option ID =
2789]

4. improving all the wrongs in the educational policy. / fRr&iT #ifar & st arerferdt shr UR =T [Option ID =
2790]

Correct Answer :-

« ensuring that learner is shifted away from rote methods. / Y&t arelt faferat & A&t @I g geatr
gfAfee & [Option ID = 2791]



